Some Characterization Results Based On Expected Values Of Generalized Order Statistics^{*}

Mohammad Faizan[†], Md. Izhar Khan[‡]

Received 27 May 2016

Abstract

In this paper, we have characterized continuous probability distributions by considering the conditional expectations of functions of generalized order statistics conditioned on non-adjacent generalized order statistics. Further, some important deductions for order statistics and record values are discussed.

1 Introduction

The concept of generalized order statistics (gos) has been introduced and extensively studied by Kamps [10]. Let $n \ge 2$, be a given integer and $\tilde{m} = (m_1, m_2, ..., m_{n-1}) \in \Re^{n-1}$, $k \ge 1$ be the parameters such that

$$\gamma_i = k + n - i + \sum_{j=1}^{n-1} m_i \text{ for } 1 \le i \le n-1.$$

Then $X(1, n, \tilde{m}, k)$, $X(2, n, \tilde{m}, k)$, ..., $X(r, n, \tilde{m}, k)$ are called *gos* from continuous population with the cumulative distribution function (cdf) F(x) and the probability density function (pdf) f(x) if their joint pdf has the form

$$k\left(\prod_{j=1}^{n=1}\gamma_{j}\right)\left(\prod_{i=1}^{n=1}[1-F(x_{i})]^{m_{i}}f(x_{i})\right)[1-F(x_{n})]^{k-1}f(x_{n}),$$

on the cone $F^{-1}(0+) < x_1 \leq x_2 \leq \dots \leq x_n < F^{-1}(1)$ of \Re^n . The *pdf* of *r*-th *m*-gos X(r, n, m, k) is given by Kamps [10],

$$f_{X(r,n,m,k)}(x) = \frac{C_{r-1}}{(r-1)!} [\overline{F}(x)]^{\gamma_r - 1} g_m^{r-1} [F(x)] f(x),$$

and the joint pdf of X(r, n, m, k) and X(s, n, m, k), $1 \le r < s \le n$, is given by Kamps [10],

 $f_{X(r,n,m,k),X(s,n,m,k)}(x,y)$

^{*}Mathematics Subject Classifications: 62G30, 62E10.

[†]Department of Statistics and Operations Research, Aligarh Muslim University, Aligarh, India

 $^{^{\}ddagger}$ Department of Mathematics, Faculty of Science, Islamic University in Madinah, Madinah, Kingdom of Saudi Arabia

$$= \frac{C_{s-1}}{(r-1)!(s-r-1)!} [\bar{F}(x)]^m g_m^{r-1} [F(x)] \times [h_m(F(y)) - h_m(F(x))]^{s-r-1} [\bar{F}(y)]^{\gamma_s - 1} f(x) f(y), \ \alpha \le x < y \le \beta.$$

where

$$\bar{F}(x) = 1 - F(x), \quad \gamma_i = k + (n-i) + (m+1), \quad C_{s-1} = \prod_{i=1}^s \gamma_i$$
$$h_m(x) = \begin{cases} -\frac{1}{m+1}(1-x)^{m+1} & \text{for } m \neq -1, \\ -\log(1-x) & \text{for } m = -1. \end{cases}$$

and

$$g_m(x) = h_m(x) - h_m(0)$$
 for $x \in [0, 1)$.

The conditional pdf of X(s, n, m, k) given $X(r, n, m, k) = x, 1 \le r < s \le n$, is given by

$$f_{x(r,n,m,k)|x(s,n,m,k)}(y \mid x) = \frac{C_{s-1}}{(s-r-1)!C_{r-1}} \times \frac{[h_m(F(y)) - h_m(F(x))]^{s-r-1}[\bar{F}(y)]^{\gamma_s - 1}f(y)}{[1 - F(x)]^{\gamma_{r+1}}}.$$

The gos is reduced to some well known ordered random schemes like order statistics, record values, sequential order statistics etc. with the proper choice of parameters of gos (Cf. Kamps [10]). The conditional moments of generalized order statistics are extensively used in characterizing the probability distributions. Various approaches are available in the literature. For a detailed survey one may refer to Khan and Alzaid [2], Khan et al. [6], Beg and Ahsanullah [9], Haque et al. [11] and Khan et al. [5, 6], Noor et al. [12] amongst others.

In this paper, we consider continuous probability distributions

$$\overline{F}(x) = [1 - (m-1)x^a]^{\frac{1}{m+1}}$$
 and $\overline{F}(x) = [1 - (m-1)e^{ax}]^{\frac{1}{m+1}}$,

and characterize these continuous distributions through conditional expectation of gos. Throughout the paper, we assume

$$m_1 = m_2, \dots, m_{n-1} = m.$$

2 Characterization of Distributions

THEOREM 2.1. Let X(r, n, m, k), r = 1, 2, ..., n be the r^{th} -gos from a continuous with the df F(x) and the pdf f(x). Then, for $1 \le r < s \le n$,

$$E[X^{\alpha}(r, n, m, k) \mid X(s, n, m, k) = x] = a_{s|l}x^{\alpha} + b_{s|l}, \quad l = r, r+l,$$

if and only if

$$\overline{F}(x) = [1 - (m-1)x^a]^{\frac{1}{m+1}}, \quad \alpha > 0, \quad 0 \le x \le \beta,$$

where

$$\beta = (\frac{1}{m+1})^{1/\alpha}, \ a_{s|r}^{\star} = \frac{\gamma_s}{\gamma_r} \text{ and } b_{s|r}^{\star} = \frac{1}{m+1}[1 - a_{s|r}^{\star}].$$

PROOF. We have

$$\begin{split} E[X^{\alpha}(r,n,m,k)| \; X(s,n,m,k) &= x] \\ &= \frac{C_{s-1}}{C_{r-1}(s-r-1)!(m+1)^{s-r-1}} \\ &\times \int_{x}^{\beta} y^{\alpha} \left[1 - \left(\frac{\overline{F}(y)}{\overline{F}(x)}\right)^{m+1} \right]^{s-r-1} \left[\frac{\overline{F}(y)}{\overline{F}(x)}\right]^{k+(m+1)(n-s)-1} \frac{f(x)}{\overline{F}(x)} dy. \end{split}$$
(1)

Set $u = \left[\frac{\overline{F}(y)}{\overline{F}(x)}\right]^{m+1}$. Then the RHS of (1) reduces to

$$E[X^{\alpha}(r,n,m,k)| \ X(s,n,m,k) = x] = \frac{C_{s-1}}{C_{r-1}(s-r-1)!(m+1)(s-r-1)} \\ \times \int_0^1 [1-u\left(1-(m+1)x^{\alpha}\right)](1-u)^{s-r-1}[u]^{\frac{k+(m+1)(n-s)}{m+1}-1}du.$$

Thus

$$E[X^{\alpha}(r,n,m,k) \mid X(s,n,m,k) = x] = \frac{1}{m+1} - \frac{1}{m+1} [1 - (m+1)x^{\alpha}] \frac{\gamma_s}{\gamma_r}, \quad (2)$$

and hence the necessary part. To prove the sufficiency part, we have from Khan et al. [6],

if
$$E[X^{\alpha}(r, n, m, k) \mid X(s, n, m, k) = x] = g_{s|r}(x)$$
,

then

$$\frac{f(x)}{\overline{F}(x)} = -\frac{1}{\gamma_{r+1}} \frac{g'_{s|r}(x)}{[g_{s|r+1}(x) - g_{s|r}(x)]}.$$

Now,

$$g_{s|r+1}(x) - g_{s|r}(x) = (a_{s|r+1} - a_{s|r})\left(x^{\alpha} - \frac{1}{m+1}\right).$$

Thus,

$$\frac{f(x)}{\overline{F}(x)} = \frac{\alpha x^{\alpha-1}}{[(m+1)x^{\alpha} - 1]}$$

implies

$$\overline{F}(x) = [1 - (m+1)x^{\alpha}]^{\frac{1}{m+1}}, \ \alpha > 0 \text{ and } 0 \le x \le \beta,$$

and hence the proof is complete.

REMARK 2.1. When m = 0 and k = 1, Theorem 2.1 reduces for order statistics: For $1 \le r < s \le n$,

$$E[X_{s:n}^{\alpha} \mid X_{r:n} = x] = a_{s|r}^{\star} x^{\alpha} + b_{s|r}^{\star},$$

108

if and only if

$$F(x) = x^{\alpha}$$
 for $0 < x < 1$ and $\alpha > 0$,

where

$$a_{s|r}^{\star} = \left(\frac{n-s-1}{n-r-1}\right)$$
 and $b_{s|r}^{\star} = \left(\frac{s-r}{n-r-1}\right)$

as obtained by Khan and Abu-Salih [4], Franco and Ruiz [9], Dembinska and Wesolowski [1], Khan and Abouammoh [3] and Khan and Alzaid [2].

REMARK 2.2. When m = -1, k = 1, Theorem 2.1 reduces for order statistics: For $1 \le r < s \le n$,

$$E[X_{U(s)}^{\alpha} \mid X_{U(r)} = x] = x^{\alpha} \text{ with } a_{s|r}^{\star} = 1 \text{ and } b_{s|r}^{\star} = 0,$$

if and only if

$$F(x) = e^{-x^{\alpha}}$$
 for $0 < x < \infty$ and $\alpha > 0$,

as obtained by Franco and Ruiz [9] and Athar et al. [8].

THEOREM 2.2. Let X(r, n, m, k), r = 1, 2, ..., n, be the r^{th} -gos from a continuous population with the df F(x) and the f(x), then, for $1 \le r < s \le t \le n$,

$$E[X^{\alpha}(t, n, m, k) | X(r, n, m, k) = x] = a^{\star}_{t|s} E[X^{\alpha}(s, n, m, k) | X(r, n, m, k) = x] + b^{\star}_{t|s},$$
(3)

if and only if

$$\overline{F}(x) = \left[1 - (m+1)x^{\alpha}\right]^{\frac{1}{m+1}} \text{ for } \alpha > 0 \text{ and } 0 \le x \le \beta,$$
(4)

where

$$\beta = (\frac{1}{m+1})^{1/\alpha}, \ a_{t|s}^{\star} = \frac{\gamma_t}{\gamma_s}, \ \text{and} \ b_{t|s}^{\star} = \frac{1}{m+1}[1-a_{t|s}^{\star}].$$

PROOF. It is easy to see that (4) implies (3) and hence the necessary part. For the sufficiency part, we have

$$\frac{C_{t-1}}{C_{r-1}(t-r-1)!(m+1)^{t-r-1}} \times \int_{x}^{\beta} \frac{1}{[\overline{F}(y)]^{\gamma_{r+1}}} y^{\alpha} [(\overline{F}(x))^{m+1} - (\overline{F}(x))^{m+1}]^{t-r-1} [\overline{F}(y)]^{\gamma_{t}-1} f(x) dy \\
= \alpha_{t|s} \frac{C_{s-1}}{C_{r-1}(s-r-1)!(m+1)^{s-r-1}} \\
\times \int_{x}^{\beta} \frac{1}{[\overline{F}(y)]^{\gamma_{r}+1}} y^{\alpha} [(\overline{F}(x))^{m+1} - (\overline{F}(y))^{m+1}]^{s-r-1} [\overline{F}(y)]^{\gamma_{s}-1} f(x) dy + b_{t|s}.$$
(5)

Differentiating both the sides of (5) (s - r) times w.r.t. x, we get

$$\frac{C_{t-1}}{C_{s-1}(t-r-1)!(m+1)^{t-s-1}}$$

Some Characterization Results

$$\begin{split} & \times \int_x^\beta \frac{1}{[\overline{F}(y)]^{\gamma_{s+1}}} y^{\alpha} [(\overline{F}(x))^{m+1} - (\overline{F}(x))^{m+1}]^{t-r-1} [\overline{F}(y)]^{\gamma_t - 1} f(y) dy \\ & = a_{t|s} x^{\alpha} + b_{t|s} \end{split}$$

i.e.

$$g_{t|s}(x) = a_{t|s}x^{\alpha} + b_{t|s}.$$

Using the result in Khan et al. [6], we get

$$\frac{f(x)}{\overline{F}(x)} = \frac{\alpha x^{\alpha-1}}{[(m+1)x^{\alpha} - 1]}$$

and hence the proof is complete.

REMARK 2.3. When s = r, Theorem 2.2 reduces to Theorem 2.1.

THEOREM 2.3. Under the conditions given in Theorem 2.1 and, for $1 \le r < s \le n$,

$$E[e^{\alpha X(s,n,m,k)} \mid X(r,n,m,k) = x] = a_{s|l} e^{\alpha x} + b_{s|l}$$
 for $l = r$ and $r + 1$,

if and only if

$$\overline{F}(x) = \left[1 - (m+1)e^{\alpha x}\right]^{\frac{1}{m+1}} \text{ for } -\infty < x \le \ln\beta,$$
(6)

where

$$\beta = (\frac{1}{m+1})^{1/\alpha}, \ \ a^{\star}_{s|r} = \frac{\gamma_s}{\gamma_r} \ \ \text{and} \ \ b^{\star}_{s|r} = \frac{1}{m+1}[1-a^{\star}_{s|r}].$$

PROOF. We have

$$E[e^{\alpha X(r,n,m,k)} | X(s,n,m,k) = x] = \frac{C_{s-1}}{C_{r-1}(s-r-1)!(m+1)^{(s-r-1)}} \times \int_{x}^{\ln\beta} e^{\alpha y} \left[1 - \left(\frac{\overline{F}(y)}{\overline{F}(x)}\right)^{m+1} \right]^{s-r-1} \left[\frac{\overline{F}(y)}{\overline{F}(x)}\right]^{k+(m+1)(n-s)-1} \frac{f(x)}{\overline{F}(x)} dy.$$
(7)

Set $u = \left[\frac{\overline{F}(y)}{\overline{F}(x)}\right]^{m+1}$. Then the RHS of (7) reduces to

$$\begin{split} E[e^{\alpha X(r,n,m,k)} | \ X(s,n,m,k) &= x] \\ &= \frac{C_{s-1}}{C_{r-1}(s-r-1)!(m+1)^s - r - 1} \\ &\times \int_0^1 [1 - u \ (1 - (m+1)e^{\alpha x})](1 - u)^{s-r-1} [u]^{\frac{k + (m+1)(n-s)}{m+1} - 1} du \end{split}$$

Then

$$E[e^{\alpha X(r,n,m,k)} \mid X(s,n,m,k) = x] = \frac{1}{(m+1)} - \frac{1}{(m+1)} [1 - (m+1)e^{\alpha x}] \frac{\gamma_s}{\gamma_r}.$$

110

and hence the proof of necessity is complete. For the sufficiency part we use the result in Khan et al. [6] to get,

$$\frac{f(x)}{\overline{F}(x)} = \frac{\alpha e^{\alpha x}}{[(m+1)e^{\alpha x} - 1]},$$

which implies

$$\overline{F}(x) = [1 - (m+1)e^{\alpha x}]^{\frac{1}{m+1}} \text{ for } -\infty < x \le \ln \beta.$$

REMARK 2.4. When $m = 0, \ k = 1$, Theorem 2.3 reduces for order statistics: For $1 \le r < s \le n$,

$$E[e^{\alpha X_{s:n}} \mid X_{r:n} = x] = a_{s|r}^{\star} e^{\alpha x} + b_{s|r}^{\star}.$$

if and only if

$$F(x) = e^{\alpha x}$$
 for $-\infty < x < 0$ and $\alpha > 0$,

where

$$a_{s|r}^{\star} = \left(\frac{n-s+1}{n-r+1}\right)$$
 and $b_{s|r}^{\star} = \left(\frac{s-r}{n-r+1}\right)$,

as obtained by Franco and Ruiz [9].

REMARK 2.5. When m = -1 and k = 1, Theorem 2.3 reduces for record statistics: For $1 \le r < s$,

$$E[e^{\alpha X_{U(s)}} \mid X_{U(r)} = x] = e^{\alpha x} \text{ for } a_{s|r}^{\star} = 1 \text{ and } b_{s|r}^{\star} = 0$$

if and only if

$$\overline{F}(x) = e^{-e^{\alpha x}}$$
 for $-\infty < x < 0$ and $\alpha > 0$,

as obtained by Franco and Ruiz [9].

THEOREM 2.4. Under the conditions given in Theorem 2.2 and for $1 \leq r < s < t \leq n,$

$$E[e^{\alpha X(s,n,m,k)} \mid X(r,n,m,k) = x] = a_{t|s}E[e^{\alpha X(s,n,m,k)} \mid X(r,n,m,k) = x] + b_{t|s}$$

if and only if

$$\bar{F}(x) = [1 - (m+1)e^{\alpha x}]^{\frac{1}{m+1}}$$
 for $-\infty < x \le \ln \beta$,

where

$$\beta = (\frac{1}{m+1})^{1/\alpha}, \ a_{t|s}^{\star} = \frac{\gamma_t}{\gamma_s} \ \text{ and } b_{t|s}^{\star} = \frac{1}{m+1} [1 - a_{t|s}^{\star}].$$

PROOF. The necessity is obvious. For the sufficiency part, we have

$$\frac{C_{t-1}}{C_{r-1}(t-r-1)!(m+1)^{t-r-1}} \times \int_{x}^{\ln\beta} \frac{1}{[\overline{F}(y)]^{\gamma_s+1}} e^{\alpha y} [(\overline{F}(x))^{m+1} - (\overline{F}(y))^{m+1}]^{t-r-1} [\overline{F}(y)]^{\gamma_t-1} f(y) dy$$

$$= a_{t|s} \frac{C_{s-1}}{C_{r-1}(s-r-1)!(m+1)^{s-r-1}} \int_{x}^{\ln\beta} \frac{1}{[\overline{F}(y)]^{\gamma_{s}+1}} e^{\alpha y} \times [(\overline{F}(x))^{m+1} - (\overline{F}(y))^{m+1}]^{s-r-1} [\overline{F}(y)]^{\gamma_{s}-1} f(y) dy + b_{t|s}.$$
(8)

Differentiating both sides of (8) (s-r) times w.r.t. x, we get

$$\begin{aligned} & \frac{C_{t-1}}{C_{s-1}(t-r-1)!(m+1)^{t-s-1}} \\ & \times \int_{x}^{\ln\beta} \frac{1}{[\overline{F}(y)]^{\gamma_{s}+1}} e^{\alpha y} [(\overline{F}(x))^{m+1} - (\overline{F}(y))^{m+1}]^{t-s-1} [\overline{F}(y)]^{\gamma_{t}-1} f(y) dy \\ = & a_{t|s} e^{\alpha x} + b_{t|s}, \end{aligned}$$

i.e.,

$$g_{t|s}(x) = a_{t|s}e^{\alpha x} + b_{t|s}.$$

Using the result in Khan et al. [6], we get

$$\frac{f(x)}{\overline{F}(x)} = \frac{\alpha e^{\alpha x}}{[(m+1)e^{\alpha x} - 1]}$$

which implies

=

$$\overline{F}(x) = [1 - (m+1)e^{\alpha x}]^{\frac{1}{m+1}}.$$

REMARK 2.5. When s = r, Theorem 2.4 reduces to Theorem 2.3.

Acknowledgment. The authors are grateful to the referees for careful reading of the article and suggestions.

References

- A. Dembinska and J. Wesolowski, Linearity of regression for non-adjacent order statistics, Metrika, 48(1998), 215–222.
- [2] A. H. Khan and A. A. Alzaid, Characterization of distributions through linear regression of non-adjacent generalized order statistics, J. Appl. Statist. Sci., 13(2004), 123–136.
- [3] A. H. Khan and A. M. Abouammoh, Characterizations of distributions by conditional expectation of order statistics, J. Appl. Statist. Sci., 9(2000), 159–167.
- [4] A. H. Khan and M. S. Abu-Salih, Characterizations of probability distributions by conditional expectation of order statistics, Metron, 47(1989), 171–181.
- [5] A. H. Khan, M. Faizan and Z. Haque, Characterization of continuous distributions by through conditional variance of generalized order statistics and dual generalized order statistics, J. Stat. Theo. Appl., 9(2010), 375–385.

- [6] A. H. Khan, R. U. Khan and M. Yaqub, Characterization of continuous distributions through conditional expectation of functions of generalized order statistics, J. Appl. Prob. Statist., 1(2006), 115–131.
- [7] H. Athar, M. Yaqub and H. M. Islam, On characterization of distributions through linear regression of record values and order statistics, Aligarh J. Statist., 23 (2003), 97-105.
- [8] M. Franco and J. M. Ruiz, On characterizations of distributions by expected values of order statistics and record values with gap, Metrika, 45(1997), 107–119.
- [9] M. I. Beg and M. Ahsanullah, On characterizing distributions by conditional expectations of function of generalized order statistics, J. Appl. Statist. Sci., 15(2006), 229–244.
- [10] U. Kamps, A Concept of Generalized Order Statistics, B.G. Teubner Stuttgart, Germany, 1995.
- [11] Z. Haque, H. Athar and R. U. Khan, Characterization of probability distributions through expectation of function of generalized order statistics, J. Stat. Theo. Appl., 8(2009), 416–426.
- [12] Z., Noor, H. Athar and Z. Akhter, Conditional expectation of generalized order statistics and characterization of probability distributions, J. Stat. Appl. Prob. Lett., 1(2014), 9–18.